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I Analysis of 274 clause in 'a mwn: if he knew beforehand but didn’t yet find out - “inside” 9w and 3”ny “protect
a  Then: when he finds out, he must bring 71 n%y
b ~p»xinterpretsv. 1
i anwr
1 Possible errant reading: might have thought that it is 9901 for 3 sins (vv. 2-4) that are called “nxmv”
(a) Challenge: how could these be 0193 112? If 103, death penalty; awa — ny1ap nron (murder — Mmb))
(i) Answer: could have been 712 w/o NN or w1 and he didn’t yet find out
(ii) And: re: murder, could’ve been one of those cases that falls between nnom 2n and m
2 Therefore: it states nknon — but not all; wTpn NkMY is distinct from all others (777 N5y 127p)
(a) Challenge: "y is also distinct (can only bring n1°»w, not a choice of nYYW/naw3 as in NY12p nNrYN)
(i) Answer: the distinction must be a leniency — 1"y 1Yw is limiting - stringency
(b) Challenge; perhaps it refers to N5y nrmMY (i.e. N1 NRMY would be lifted by nn21 hoyin YY) -
(i) Explanation: she is distinct as she also brings 71" 1% 129p
(if) Answer: nnron 935 implies that there is a sin, not just NkmMY — being expiated
(iii) Challenge: according to »"aw4, N5y brings her nxon for the sin (of swearing...at birth)
1. Answer: w™, in our 8na (below), understand application to wTpn nrML from context
(c) Challenge: perhaps it refers to a y71¥n (whose nrmv is lifted by 1yv)
(i) Answer: as per above — must be a Ron
(if) Challenge: 1mv "1 holds that a ym¥n is fundamentally a X0 (ny7x comes for 7 different sins)
1. Answer: the ny~¥ is the n193; the 129p just allows him to return to Y8’ Ynp
(d) Challenge: perhaps it refers to Xnv 71 (Who would be exempt from &no 911 DVR)
(i) Answer: as per above — must be a Ron
(if) Challenge: 19pn ®™ sees P11 as a RVIN (VAIN HY RON TWRN)
1. Answer: (perhaps) he holds like w™ in our xn»1a
3 In conclusion: it is only 1930 for some aspect of YWTPI WTPN NRMYV
i v
1 Unnecessary: no need to infer as N> '3; the context (Nknon WP Hp) instructs that it is about w1 NrMY
(a) /7 77 that verse is needed to teach that 3’12 repeats p™1p nay in Y30
(b) ™ that’s inferred from nwy» 191 (v. 1)
(1) A7 7 that would teach same nmay with new set of animals
(if) w77 implication of nWY’ 191 is from same o7
2 Possible error: R"10 it is 79991 for all violations of YW1 WTpPN NRMV
(a) Meaning: a case of 9011 NYNN2 YT
(i) Challenge: in that case, he would have to bring 791" 0%, why would we think that 9030 Pyw?
1. Answer: if he only found out just before 5"nv; perhaps 1w would protect until he brings »y — 5"np
3 Therefore: it equates Dywa:mRON
(a) Just as: mywa (deliberate sins) never generate 117 2N
(b) So too: the m>xon mentioned here do not generate 127p
4 And: wronimplies that it is someone who is liable for a nxon = 9102 NP> PRI N NN NY* W (NHIN)
(a) Question: why did w™ need onron 3% to establish this? nron::mywa should’ve been sufficient
(i) Answer: ™D, just as D’Ywa are never atoned with 127p, so too mRVN must be the same sort
1. And not: n9mna ny»1 na v, that he will be liable for a 129p when he is alerted
2. And: how do we know that the yina vyw is 7930 for n»nna ny» na px; perhaps its flipped?
3. That’s why: we need nnrvn 935 > someone who is liable for a nron (11N until then)
(if) Question: perhaps it should be fully 9931 for n%nna Ny na v —not just "n5n”
1. Answer: doesn’t say nnronn, (would mean full n993), rather onxron 3% - eventually, nron
a. therefore: it protects from 1170 until he finds out and brings 191" n%
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